3 2005 SURDS gth March

1. Simplify these surds:

(a) V28, (e) 3v15 x 5V6,

(b) V72, (f) 18v/150 + 3v/3,

(c) V50 — V18, (&) 3vz + oz,

(d) 3v2+5v8, (b) 5a+v/a —Va®.
2. Expand and simplify:

(a) (5+2v2)(3 - 4v10), (@) (4-7v2)(4+7V2)

(b) (2+V3)7, (&) (1+vm)”,

(©) (3-2v5)%, (£) (3vF—2)(3vF+2).
3. Rationalize the denominator of:

(0) -, ©)

V5 - V6 —+/5
® 25 © 5

4. Simplify these expressions, leaving your answer as a single fraction without any surds
in the denoeminator:

1
24+5V34+ ——— |
() +2+5\/§

\/5+\/24r_m+\/‘—§/m

b X
(b) VZ—=V24+z z+2+1z
5. Given z = 2v/3 —1, find +$ 7 expressing your answer as a fraction with a rational
T :

denominator.
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